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1D pull distribution
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1D pull distribution

0.0225 £ 0.1649

Mean

1.069 + 0.1166

Std Dev

Underflow

Overflow

3.982/6

X2/ ndf

10.78 +£2.38

Constant

-0.3773 + 0.1628

Mean

0.7975 £ 0.1601

Sigma

A%

48 /41

X2 / ndf

+410.2

1472

pO

0III|III|

asym_us_avg (ppb)

15000

-5000




RMS (ppm)

320

300

280

260

240

asym_us_avg RMS (ppm)

J—II|III|III|oIII|III|II

“86885p3809500900809 300501357907 307807903303503893493509 303908803801 503509807 0159850759930 330 740 390308408 8083080 3985898509 5




asym_us_dd (ppb) 1D pull distribution

= X2 / ndf 40.43 /41
Mean -0.01359 +0.1514
u pO 559.4 + 521.4 F
10000 — b Std Dev 0981+ 0.107
— : Underflow 0
5000 ¥ 7 - Overtow 0
L } ‘ { L X2 I ndf 327375
I 1 l |1 -1 ] ILi: l I 1 } 5 Constant 8.472 £ 1.940
0 - = r
l l l l ‘ l l st Mean  0.07047 +0.17904
: : Sigma 1.005 + 0.200
-5000 — -
L ar _
-10000 — 3 m
2f |
i
0_||||||LAJ|||II|III|I T
8 6 -4 =2 0 2 4 6 8

-
&
@
@
@©
<



RMS (ppm)

400

380

360

340

320

asym_us_dd RMS (ppm)

-L|IloI|III|III|III|III

“86885p3809500900809 300501357907 307807903303503893493509 303908803801 503509807 0159850759930 330 740 390308408 8083080 3985898509 5




asym_dsl (ppb) 1D pull distribution
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asym_dsr (ppb) 1D pull distribution
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asym_atl2 (ppb) 1D pull distribution

300 X? I ndf 44.46 41
Mean 0.01972 + 0.1587

pO —4317 + 1.498e+04
8 Std Dev 1.029 + 0.1122

200

Underflow 0
100 Overflow 0
X2/ ndf 2.659/5
Constant 7.896 + 1.492
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1D pull distribution

Mean 0.007944 + 0.1685
12- Std Dev 1.092 +0.1191
o Underflow
10 Overflow
X2/ ndf 7.41717
B Constant 6.028 +1.387
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